1, f0

TL
A
JL
>
° J. 1/10
° f1 T,
o fo T,
Ta
T
. Td=( Ta+ L)
° 0 Td
J, (kg.cm?)= (m /32)p L (DD, + (m D2)/4
T, (N.m)= (WD,/2)x 102
‘L(cm) D,(cm)
4 m— (kg
D,(cm) W=—- V)
p --—- (kg/cn)

p =7.86x 10-3(kg/cm’)
p =2.69x 10-3(kg/cm’)
( : 1kgf=9.8N)



2)

J. (k-g.cmz): i+ (Z,/Z,)? { 2+33+m (P/2mt )?}
T (Nm)=(Z/Z,) {[p (W+f) Pl/(2rtn )}x 102

m-- (kg); W--  (N)
f-- (N)
m, W M-
n [p—
/ J,- (kgem?); Z,-
_45.'/__ _____ [ — = C— Ji- (kgem?); Z-
Jg- (kgcm?); P- (cm)
3) f= (\N/60)- (36070 )
B S-- () N-- (rpm)
4) T=Ta+TL= (IM+JL) (7t /180)6 S[(FO-f1)/t]x 102 + TL
T(Nm)
T —-
\ Ta--
T \\ B In--
\ JL--
TL A
fl f0
1/ A .2/ B
2 1 2 3 4 5
A [ ]
B
A
B [ |I
2 2 2 2 2
1-2 1 2] 3. 4] 5.6 7 18] 9 110
A | ! : :
B : : ! :
A : . == f
B [ j : ! | : ﬂ
| 2 1] 2.1 2 11 2 11 2 11
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